10- C\RCLE
10- \ EQUATiON OF A CIRCLE
10- 1+ | FineiNg CenrRe AND RADWS

(«ry C(5,-7) re

(b C(-0.0) e s (30%)
10- 1.2 FINDING EQUATION

() sz_*_})?*(*ﬁ’ s) - 17

(b> Centre Rodins

C2es) C25) (2.2)

(x+)"+ (4-5) = 25

(C) Cenvre | _QO\JCM
(q.—_w) (_-\.w.\ (a.2) (2. - :o)
C(‘MZ) r il'L r=173
Ve _5 ]

(o) (47 0) =169
10- 7 GENERAL EQuATON OF A CLileie
(%) 3: 4 [ 4 c= 16

C(z,-4) e O (W) 16



(b 47 5 (- 3y ¢ (€
c(-5.3) P Sy e (-3) - (-10)
r-[50 (s57)

©  (xrsY e y-e) s
XL+lOX‘(Zg 431—|2tj-‘36 - L_‘
x1+~3‘*\0x-|2%+64 T 4

xPrgt o - 2y + 510 A

"
J J
10- 3 STEPPING OUT A

@ PCaiy sy G, 6

%fz f--6 ¢=-24

A(-2.6) fef2)+ CeY-(29) (%- )" (- \%'3_’ - 156
FA'- 8 o

o re,: 'G



10 4 TOUCHING ClR&ES
q: -6 Fe-5 =53

(o) C\(‘S'ﬂ (‘\:,/-? _
C(6,5) u=fCa)ts (-s5) -S3

L= %
Co = 2]5’
D(AC 1
,_,-' 3 DC\CI : j .8
/ r| ‘ 3z Poary {2 207
R = 3[‘{
- Daer = O 0y \ crdey fwada (e,xi’ornm\(u&]
:Q:\:_u_ sinu"_-L puif\':_‘ T
by Ca) =2 groto Feoaes BT
Cu(10,4)  rye fo) e )T
C\ V2
DC\CL ‘
r'g DL\L‘L"O (-0, = 10
A

Daer = 0, - 7, circe) toudh (5"'\'@!‘f\€«ll3)

L3

ab « Sing\L poing . T

10-5 TANGEwTS TO CGIRCLES
10-5- 1 FINDING THE EQUATION OF A TANQENT

(@) Grod e
OG- 39) (-3, 9)
.
m= g
m, = %
g0 e
7\4\,‘ - L= lz



(b> _G‘_”i b
3:5 £=-3 <= -lb ('\0.%)

('513) ('lO"‘Z)
3
m- Ty
-
y- w0 G )
=\
e Yo%z 1%

10- 5. 2 PRovING THAT A LINE \S A TANGENT

(o) 4= x = '3
= T
J
1 1 - _
R C\3 -4t =0
)(,1+(7L*\‘S\)1‘ (ﬁtx-t\’s)- 41 =0

AR AR N IA NI lhe Gx - 18 ~hl 0o

2x* 4 200 2 S0 =0

2(2Y~ 10 = 25 ) =0
2(x+SXx+ SY) =
xz-S fwie cepeured roat :?__%awuﬁ -
Poc (-5, %)
(b \ﬁ S
)(.1“\31- 1L - 103 +53 =0
sl 4 (- M- w(-a)asy = O

2t . g - vux ! 2x -0 45T o

2%t - tox + 3T Y
2(xt- gx + {6 ) = 0
(- )x-4) =9
x=h fwie  fepeated rok = fmgency ©

boC (b4, %)



